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t, AI the parts (if any) of each Question must be attempted at 0ne place instead of at different places.Write a, No. tn the Answer Book ln accordance with a. No. in the a. Paper
m, No Page/Space be left blank between the answers. Ail the blank pages of Answer Book must be crossed.
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Q F$o" 3.:

Q T{o"2

A&mft anv SIX Qrsions iF all. F0UR from Part-r and TWo from part-u, yop must u"" oruEand MaUr.'Eouations to expl'ain vour point of view, Attempt im ur.duEE"rti"h" gakgbrcq*
alflowFd (Not proqramrnableL

PART.T

i) Briefly-o<plain and differenuate between changes in supply and changes in quantity
supplies. Point out such impact on pric€ of commodity Gi.' 

'

ii) Analyze backward bending supply curve 0f labor. U'ptuin its special shape and market' conditions (t{}+'6=to pgurk )

Qflo.3

Q No,4

Q il1o.5

Q No,6

Q Xrlo.7

i).Describe Elasticity of demand so that you can identifiT demand for normal commodity,
Giffbn goods and inferior goods.
ii) ftplain Engel culrve and justify the shape of Indifference curve you applied in this case,Besides, also point out whether Indifference curye could be straigjht ririe, ii io, ihen how
consumer will make a dmision. - (tqi+o=i6 nqanks)
i) Explain Income and Substifution effect, as a result of price change, you must applyHickian method to explain your point of view.
ii) Apply (i) above in ttre case oi demand for potato; identiff the nature of this mmmodityi'e. normal or inferior commodity etc. ---rl6+i'=ii uiirii
!| $Olain 1ny tr,v, types of production functions and discuss their characteristics.
ii) Explain Iso-ost u* IP quants and apply *ut rninimi.iuon ror oecislon mat<ing. Ftow
economies of scale affect such curyes. . (10+6=tO Mar{<s}

i) Explain Monopoly and Monopsony. Analyze price determlnation under monopoly,
ii) Why monopolist preftr price Oiicrimtnauon and under which.ono''tionr *Sndpotirt.un
succeed in it. (t0+6=t6 Mar[<s]

1) 
Arylvze industry's demand for factors of production under peffect competition.

li) Describe o<pansion path (due to changes in wages of fa.to, of ;rod;Aon) and itsimplication for factors demand for firm. (10+6=16 Mad<s)

Write a note on any TWO of Ure fo[owiilg;
i) How duspoly is different from oligopolf Also explain decisions of firms (supply and prices)
under these condiUons,

!i) {nafpg efficiencv tosg under monopoly. How such tosses may be avoided or minimizedby imposing taxs.or subsidy?

iii) Srive atrerase co$ and r'naryinal cost curye from total cost curve and discuss its economicimpliqtions, How the[ir,r,ragnn*rries (yqrues) change atong ne .rro. (g+g=16 F4arks]



PART.II

Consider the following model:

Y=C+Io*Go C=20+5 yrh

Io =14 Go=19

Find

(a)

(D , YandC
(iD Value of rnultiplier

(b) What is the signlficarre of derivativo in Economics?

Q No.8

Q No.9

Q No.lO

(14+4=tg Marks)

?

(a) Given the fulloyving demard and average cost

Functions:

Q=300-2P

AC=7Q+3+l@
a

And that a zubsidy of Rs.3 Per unlt is paid to the ftrm

' (D Find proftt nuaximidng prie and ousut
(iD Find profit rna:<imidng price and ou$ut in the absence of the subsidy,

(b) Given the tollowirg demard and *rpply

Functions:

Demand -250-9P-4Pz Supply=200+4Pz

Find elasticity of demand (12+6=18 Marks)

(a) What are Maxima, Minima and point of Inflection?

(b) Maximize:

ll = 64x-2xz + 4n1 -4 yz a32y -L4

Subject to x+y=79 (6+12=18 Marks)
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gXlEIEft EcoNoMIcs (PAPER:II)

Attemot any FIYE Q+rqstiqns in all. At least TWO Questions from e?9h sectiQn.

AttemPt in Urdu or English

SECTION.A

Q. No. 1: Write a note on the following: (1O*!.O=2O Marks)

i) Keynesian absolute income hypothesis

ii) Life cycle hYPothesis

Q. ilo. 2 Explain any TWO of the followings:

i) Llquidity Preference theory
ii) Balance budget multiPlier
iii) Purchasing Power Parity theory

(10+X.O=2O Marks)

Q, No. 3

Q, No.4

Q, No.S

Q. No.6

Q. No.7

Q. No.8

Give an example of how the government might hurt young generations, even while reducing the' 
,

Explain the permanent-income hypothesis. Why changes in consumptions are unpredictable if

consumers obey the permanent-income hypothesis and have rational expectation.

(2O Marks)

sEcTx@lu-ts

a) What are causes of industrial backwardness in Pakistan? (LO Marks)

bi Suggest remedies to solve the problems faced by the industrialists in Pakistan.
(LCI Mart<s)

presently pakistan is under severe internal and external debt burden. Discuss its causes and

future consequences for Pakistan's development' (2S Manks)

Write a note on the following: '(10+t@=20 Marks)

i) Pros and Cons of foreign aid

ii) WTO and textile sector of Pakistan

Explain causes of energy crisis in Pakistan. Why energy crisis in Pakistan is not controlled?
(XO+nO=2O Marks)
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